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Geometry 10.1-10.5 Name_ k«‘e"ﬁ

( 1. Find the circumference of a circle in which an 80 cm chord is 9 cm from the center.
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2. Find x. 3. Find x.

¢ 4. Find x.
et (hint: walk around problem})
5. Circle O is inscribed in APOR. PO =8, OR=11,and PR=17. Find PT.
(hint: walk around problem)
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6. AC=14, AB=10, CB=18
Find the length of the radius
of the largest circle. :

I ]

7. Circle O with radius 8 and circle P with radius 3. The length of the common external
tangent segment is 12. Find the distance between the two circles.

8. Two circles with radii 9'cm and 6 cm erediram . Find the length of the common { -
~ntessal tangent. ' Kre ~ouchirg S : :
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9. Find PO.
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Geometry 10.1-10.5 Name

1. F_ind T;he circumference of a circle in which an 80 cm chord is 9 cm from the center.

3. Find x.

2. Find x.

4. Find x.
(hint: walk around problem)

5. Circle O is inscribed in APOR. PO =8, OR=11,and PR=17. Find PT.
(hint: walk around problem}

P




6. AC=14, AB=10, CB=18
Find the length of the radius
of the largest circle. '

7. Circle O with radius 8 and circle P with radius 3. The length of the common external
tangent segment is 12. Find the distance between the two circles.

- -» St —‘_4'. 22 [ ; '
8. Two circles with radii 9'cm and 6 cm axes@diismsas: Find the length of the common
~utemeal tangent. ' Are ~touch, Q, : g _ A
Stegemi -

9. Find PQ.




